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B.A./B.Com./B. Sc /B.B.A.[B.C.A. DEGREE (CBCS), EXAMINATIONS MARCH 2020

(Examinatlon at the end of Second Semester)

Part III _ Foundatxon Course.

COMMUNICATION AND SOFT SKILLS (CSS) I

(Regulatmn 2016-2017)

* - .Time : 2 hours

| Maximuﬁa - 50 marks
, Aﬁswer'ALL questions. |
1. Fillin the blanks W1th the appropnate preﬁx/sufﬁx ' ' - (Bx1=5H)
(a) There were only a ' _ of people at the match. o .
 (Use hand+suffix) |
(B) Mahétma Gandhi is an _ man.
(U se Prefix + ordinﬁry)
(¢) The child is feist.- E
. (Use Preﬁﬁ + sleep) .
@ Thé driver was rewarded for his

©

(Use loyal + sufix)

My grandfather is: ' man.

‘(U se learn + suffix)

Rewnte as directed:

@

()

©

D

A person who is eager to learn is

(5x1=5)

(Choose the correct one word substitute)
That which cannot be av01ded is

. (ZealousIJ udicious)

(Choose the correct one word subsntute)

One who 18 all powerful is

(Choose the correct one word substitute)

. (Inevitable/Inimitable)

. (Omnipresen_t/Omnipbtent)

Docﬁor - Treatment :: Lawyer :
(i) comment -
(i) merriment

(i) argument

C(iv) ~ commitment

_(Complete the Analogy)



@

(b

@
- (e)

@

(@)

. (Use the coi'recf form of ‘be’)

Entrance - Exit :: Birth : _ o . (Completé the Analogy)’
@i)..  Arrival . :
(i1} Death
(iii) - Childhood-
C(3v) Adolescence _
Write the synonym]antonym for the following. - L Bx1 = 5)
(a) -apathy — (wtite the synonym) L - o '
~despair — (write the antonym)
(¢} symbol — (write the synonym)
rigid — (write the antonym) -
advance — (write the antonym) '
Fﬂl in the blanks with the correct phrasal verbs provuied . (Bx1=85y
Ram . _his father’s busmess : ' :
(took over, took after, took back) ' A
() The functlon ' _ well.
(went into, went off, went'_ abeut) _
{¢) The principal __ S _ the prizes.
' (gave away, gave off, gave up) . _ , : _
(d)  Recently many people were : by Carona virus.
(carried off, carried out, carried away)
(e) ‘a doctor at once.
(call for, call on, call m) .
Fill inl the blanks w11:h the correct verb forms E - SR BGx1=5)
(@) The soup _ good (is sme]}mg/smells) :
() Rajesh L home work since 8 O clock (is domgfhas been domg) '
(© Hari enjoys _ {0 readfreadmg) _ : '
(d) My friend 7 when I went to his house (is sleepmg/was s.'[eepmg)
(e) - Anu e her M.A,, in 2010 (has passed/passed)
: Rewriteasdirected_‘ N : o o o E o (5'>< 1=5)
(a) The cattle __ : __in the field.- ' ' ‘ :
- (Use the present contmuous form of ¢ graze)
by At5 QO clock last evening I : _to my friend.
~ (Use the past continuous form of ‘talk’)
(©) Asha _______onatour tomorrow.
(Use the si.mple present form of ‘start’) )
If she does not take a taxi, she the train.
(Use the simple future form of ‘miss’) - "
(e} Ashok will buy the dress that . __the chea_pest..
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- 10.

- Fillin the blanks with suitable prepositions.

Fill in the blanks with suitable articles. = o  (Bx1=5)

TV should never be held out as carrot or rewérd._ It not only effects
quality of thelr work but also gives rise to ___ - feeling that
denial of TV is ____ punishment. The best way is to prowde L

child Wlth alternatlve ways of entertainment.

o | o Gx1=5)
(2). Abraham Lincoln came _ : a'pbpr family. '
.(b) . Rajani is very fond 3 : ‘sweets. |
(¢) What are you looking __ - ?
(@ . Ihavenot seen him _- : _ Monday.
(e). The godown is infested _ __rats.
What are the barriers to liste‘nin'g" - o o | - . _(5)
Read the following passage ‘and answer the questmns that follow. , _ (5 x1=858)

In American restaurants they call for Toasted English’, referring to Enghsh Muffins which
though being made in Ameérica now retain ‘English’ as a sort of concession to their origin. The

. same may be said of the American’s language too. They too went through a phase of throwing -

out the British but retaining their language and letting it flourish on American soil, the
resultant language is- somewhat different from its British  counterpart :
it may be said to have gone through a process of toasting. One noticeable result of this
toasting is that much of the formalism surrounding the use of English has been abandoned.

(a)-  What does the name ‘Toasted Enghsh in Amencan restaurants refer to?

(b)  Who also went through a process of throwmg out the Brltlsh‘?
(¢) What does the word, ‘British Counterpart refer to in the passage? |

(d) What is one noticeable result of ‘toasting’ on American English?

(e) . Give the meaning of the word ‘Abandon’.

3  (2*01CSS16) -
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. B.A.fB.COlIE‘L./B.SC.fB.B._A./‘B.C.A. DEGREE (CBCS) EXAMINATIONS; MARCH 2020. |
(Examina‘tion at.the end of Secbnd Seﬁesﬁer) . |
Part I — Language - |
PROSE (URDU)
. (Resulation 2015-16)
Tifr;e : Three hours I o | Maximum : 75 marks
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B.A./B.Se./B. Com /B. B A./B.B.M./B.C.A. DEGREE (CBCS) EXAMINATION
: _ MARCH 2020.

(Exammatlon at the end of Second Semester)
Part I — Language
- SANSKRIT |
(Regulafion 2015-16)
Time : Three hOrl.rs_ o ' o o ‘ B - Maximum : 75 marks
| . Q. Nos. 7 and 8in Part A are compulsory v
Q. Nos. 2, 8,7, 8, 15, 16, 17, 18 are to be answered only in Sanskrit.
" PART A — (5 x 5= 25 merks)
wwemamEL
. Five questlons to be answered

L 'w@mmﬁm?qﬁas@m
() W@WWI
(@) R, R R -
| wﬁewsmmmr@m
2. - (a) Wﬂﬁtﬁmaﬁﬁwa@?
) e e e
3 (@) afc“sq erﬁ-crfra?r?
(b) " %mmwoaﬁr?’
4. 'Hsva‘zfrma%@m | .
(a) mmﬁkﬁmm
| {b) aﬁe@aqwmggﬁqWI
5 mme@m .
() T R B mfmaw“lam
- ® mwa%ﬁamﬂwﬁsﬁ|



'mmwma@am

mmwwmﬂgﬁaﬂaﬁnwwm mﬁwmagmrﬁaﬂ WU‘;’W

-_”&ﬂamal'

A ﬁﬁ%@“ﬁﬁ%ﬂ@?\qﬁ%@ﬁl
-(a)‘ Tﬁ@:ﬁi—@ﬁ@@ﬁf

) ﬁ--éﬁa’_—sﬁﬁ_

10.
" 11

12,

© fgq—?rga-aqgmm

: qﬁﬂaﬁﬂwﬁ%ﬂ@%mi
(@) drEE

(b) E{{W:.
(© _'3q:+a?:r% '

@ w7
© ewh ”

® ﬁﬂ.:+3’&37. .
(@) F: + T

All questions shall be attempted.

o ~ UNITI
| : . o ..:(m)

| o -UN‘I_’Il‘II
()

PART B - (5 x 10 = 50 marks)
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14.

15.

16.
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(a) %A~

®) g-vE

() I -3HT

' (@ - e
o) -
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@ e
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B.A. /B Com, fB Sc /B.B.A/B.CA. /B.A. (OL) DEGREE (CBCS) EXAMINATION MARCH 2020.

(e

(Exammatlon at the end of Second Semester)
Part I Language :
 GENERAL ENGLISH -
' (Regulation 2016-17)

- Timsé : Three hours . = - | ' R | 7- " Maximum - 75 marks
1. Answer any TWO of the foﬂ0W1ng in about 75 words each 7 : . (2x5=10)
| ' (@ How does Scrence affect the life of an average man” ' - ' -
(b) Compare and contrast the scientific point of view and God’s eye view?
(¢ How does Gardener refer to a greeting without hand shake?
(d) . What accord_mg to the author the dlsadvantages of shakmg hands?
2. Answer any TWO of the foliowmg in about 75 Words each: - _ “ . (2x5=10)
" (a) What is the central idea of the poem “Ode to Autumn”? S o
~(b)  What does Keats mean by mists and mellow frmtfulnese ?
(c) How does the poet feel about her marnage" ' ‘
(d) What does the poet try to say to thrs world in ‘I am Not that Woman’?
lAnswer any TWO of the fo].iovnng in about 75 words each | - (2 x 5= 10)
' (a) Who owned the prpalnagar bank‘7 What other details cf him are given in the story"
(b) Whoi is. Sltaram" How did he ccnvey the mformatlon by Nathu to Mrs. Srlvastava'?
© How was Subbiah tramed by hlS father in the rice busmess" 7 ' '
| (d) - How’ d.1d Subb1ah meet his tragrc end in the story ‘HalfA Rupee Worth”‘?
4. . Answer any TWO of the following in about 75 words each o o (2. x 5=10)
() What was the first cause of argument between Nataha and Lomov? ' -
_(b) Sketch the character of Natalia? =
(¢ Why did Lomov want to marry his ne1ghbcnr‘?
‘(d)j Why did Chubukov call back Lomov even using msultmg Words‘?
5. Change the voice of the following sentences. o o - _ BGx1=5) -
. () Flowers were glven to Seetha by Ram - | R o
M The police caught the t}neves
@© They locked the gates.
(d) My mother is preparing the food.

She had left her mobile in the desk.



Rewrice as directed. o o - | o , o | ' _(5 x1=5)
.(a) " “Where are you going?f’ Shyam asked Sona - .A | 7
(into indirect sneech) | o
(b) She'said to me, “tnank you.’;
B (mto mdlrect speech)
‘ - {¢) - They: sa1d “Goutham must go tomorrow (into indirect speech)
(d). My friend said to me “give me'a cup of coffee.”r ‘
(into indirect speech) “ |
(e) | ‘He said ﬁo me, “sit down.’;
(into -indirecf speech)
Rewnteasdlrected o . - “ . 4(5x1=5)'
() Seetha is the tallest girl in the ciass (change into posn::we degree)
, (b) Rlver Kr1shna is not $0 large as Ganges (change into Comparatne degree)
(o) Vlzag is blgger than many other cities in AP. (change into superlatxve degree)

' (d) Very few countries in the World are as large as China. (change into. Comparatlve
~-degree) '

(e) Hercules was stronger than any other man. (cha_nge into Superlative degree)

Read the following converéation and answer the b_lanks : o (bx1=5)
Shyam  : Good'morning! I am Shyam - I
‘Arun Good mormng" —— 1 '

Shyam : Thls my ﬁxst mtemew I am a b11: tense '

Arun.  : OR! Relax please. —-—-—-—--—-—-—2.
Shyam : What kind of questlons can we expect? ———-—-—-—-—~3 ‘
“Arun :_' Iam sure they will ask some personal questlons -

' Shyam : Ican answer _them will they questlon on our skills?

~Arun Shyam if we are conﬁdent and ——— _4 :

Shyam- : You are nght My frlends also told the same.
Arun : Wish you all the best Shyam - ' '
| Shyam : -—'—-—~———-5- WlSh you a}l the best.

s

erte a dialogue with a minimum Three exchanges on the context glven below Conversatlon
between a student and teacher for the absence of the class DR S (B

5 . (2*0IENG16)



10. Write a paragraph of 100 words with the hints given below. S ' N6

11,

A pos'tma-nA in a village — interested in every one — a good friend of all — a girl’s marriage

settles — her grand uncle dies — delays in delivering the letter — gives it after marriage —
the girl’s father is thankful to him. . o . '

Read the fo]low_ing paragraph and write ‘ansv'vexs from the multiple cﬁ'oice questions givenr :
below. S . T , . _ T (Bx1=5)

Who is an average ,st.udén_t? Is it something that is decided by ‘mere marks? Clinical

psychologist Sangeetha Madhu says, An average person need not be defined in terms of

marks — I would define an average student-as on who has balancé between his or her powers

- of logical reasoning and the emotional front. This balance causes them to be caring towards

animals, aware of their requirements, empathetic in general, understanding towards the
peer group, having respect for the opposite gender, valuing the environment, being a team
player and so on. “She goes on to say, “In fact, in the non-academic, real world, average
student who has the repertoire of social, emotional and people skills can become: potential

“leaders and make valuable contributions to the society.”.

(a) What is the meaning of the word repertoire?
() . Mental capability -
(i1) Reciprocation
(i) Potential -
(iV) Response "

(b)) What do you understand the meaning of capitalize from the passage? -

(L) Investment

(ii) . Work in a capital city _
@) Exploit

@iv) ‘Ex’periex;ce

(c) What is the most positix%e trait of an average student? -

(i)  Neglecting the opposite gender 7
(i) Balahc_e between emotion's“_ and logic
(m) Being sympathetic ‘ o
" (iv) Love for ecological imbalance | | ‘_ |
(d) What is the closest word in the passage which means interpersonal COmmunication
skills? 4 | B
(i) Team player |
(i) Potential leaders
(iii) Understanding the peer
(iv)“ People skills
(e) . Whaitr could be the apt title of this passage?
- (© Anaverage student -
(i) A good leader
(iii) A wonderful humanitarian
(iv). Intellectual skills ‘

(2*01ENG16) |
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B.A./B. Com /B Sc./B.B.A./B. C.A/B.A. (OL) DEGREE (CBCS) EXAMINATIONS MARCH 2020

-{e)

- (Exammatzon at the end of Second Semester)
Part I - Language |
GENERAL EN GLISH

(Regulatlon. 20 15-20 16)

Time : Three hours | " ‘ o - ‘Maximum : 75 marks
1. - Answer any THREE of the followmg questions. . -_ S - (3 x5=15 marks) |
| _(a) What kind of relatmn did Kushwant Singh’s grdndmother have w1th ammals‘?
() What ‘were the attempts Gandhl made in order to turn mto a proper Eng]is_h ,
- gentleman? | ' ' '
(o). Why did the writer’s grandmother accompany hnn to schooP
(d) , Descr1be the eplsode at the Hoiborn restaurant.
(e) V'Mentmn some of the evidence that goes to show that human}ﬁnd has become qmte
comfortabie with the Sea" ‘
2. Answer any THREE of the foﬂowmg questlons . - ' | - (Bx5=13 ;harks)
e " (a) What is the theme of the poem ‘The Blrd sanctuary‘?’ - ‘ PR
~ (®  Describe the kmght s dream. |
| (©  Is Whitman’s view of d1v1mty different from the trad1t10na1 views of hfe and God?
o _(d) I—Iow does the appearance of the knight reflect his mental state?
(e) | Who are the rapt enthuszasts and why are they addressed thus‘?
3.  Answer any THREE of the foHow1ng questlons @Bx5= 15 marks)
(a) What do you think is the reason for the collapse of the Plpalnagar bank"
(5) ‘ | What happened when the Thakur s door opened suddenly" ‘ - '
o ) ‘Descrlbe the scene in front of the Plpalnagar Bank after the spread of the rumour. -
(d) What did the prospectwe son-in-law in the story desire? |

What did the son-in-law in the story, Money’ m.ts‘_s the world outside? -



Answer any TWO of the fo]lowmg questlons

@ Why did the assassins drop their plan t

(b) | " Analyse and comment on the charac_ter of Pririce Dimitri.
© Sketch the chiaracter of Dr.Stronetz.
(@ - Discuss the signjﬁcance of the title, “The Death Tre.p'u”.-

_ Language _ Activity

(a)_ Rewrite the fo]lowmg sentences as dlrected ,

®

(i)

(v).

(v)

When my parents were comfortably settled in the cﬂ:y,

' the_y sent for us.

(Change into a compound sentence) .
He was thirsty so he drank water.

(Change into simple sentence) -

He went into his room to 'stﬁdy.

{Change into chplex sentence)
Work sincerely to achieve success. .
{Change into compound sente'nce).

Feeling bored, Vaeu'watched TV

'(Change into compiex sentence)

‘(b) Wnte guestmn tag for the followmg sentences

O
@
G

@{iv)

&

Amala doesn t know Telugu
The px_’incipalgot angry.
Shye'm always comeslate.'
Tm 1nv1ted to the party

Students haven t recewed their ha}l t1ckets

0 murder Prince Dimitri?

(2% 5=10 marks)

- (B5x1l= 5_'_.nﬁarks)

(5 s 1 -5 marks)

. (2*01ENG15)



(c) "Rewrite the senteneescorreeting errors. - . o ‘ kl (5x1=5 marks)
| - (@) My spectacles'is.on the table. . '

(i) The teacher told to the students to be attentive in the class

(iii) Venu is gomg 1:0 college everyday by bus |

(iv) . We made an umted effort

(v)  Since it was hot so he stayed indoors. .

| (D) "Buﬂd a short stor'y- based on the hirits given - o T (Ix5= 5 marks)

@ Poor wood cutter — forest — cutting a branch near the river — axe fell- mto river-
r1ver goddess appeared — gave him a golden axe-he- refused -gave a silver axe- he '

refused xron axa-felt happy
OR

(id) A father with three daughter wants to know how much they Iove first daughter -
- loves him like honey-second daughter loves him. like sugar third daughter loves
" . him like salt-father deserts hlS third daughter eventually reahzes the true love of

* the youngest daughter.

s . (2*01ENG15)
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- B.A/B.Com. /B Sc./B.B. A /B.C. A. DEGREE (CBCS) EXAMINATIONS MARCH 2020
| (Exammatxon at the end of Second Semester)
Part III — Foundation Course' ' _
COWUNICATI_ON AND SOFT SKILLS (CSS) -1
| (Regulation 2016—2017)
.'Me : 2 hoﬁrsﬁ ' : o o - Maximuin : 50 inarko
7 A Answer ALL questlons _
1. Fill in the blanks with the appropriate preﬁx/sufﬁx o . BGx1=5)

(a) There were only a : of people__at the matoh.
 (Use hand+suffix)
(b) Maha'tma. Gﬁndhi isan__ L man. |
’ _ (Use Prefix + ordinary)
" {¢) The child is fast |
o (Uso Proﬁx + sleep) | _
(d) The driver ‘.vas rewartied for his
(Use loyal + su‘ﬁx)
| (¢) My grandfatheris = _man.
'.(Use.: le.arn + suffix) |
2. Rewrife as directed: | ' : ' o A. ' - (5 x 1=5)
N (a)_ A persoo who is eager to leani is ' 3 . (Zealous/J udicious)

(Choose the correct one word substitute) : .
(b) That which cannot be avoided is ' . (Inevitable/Inimitable)

.{Choose the correct one word substituté) :

() One who is all powerful is ' (Omnipreseht/Omni_poten'ﬁ) _
o (Choose the correct one Word.subofitute) _ |
- (d) Doctor : Treatment :: Lawye;- : e . (Complete the Analogy)

(1). - comment
(il) merriment
(iii) argument

(iv) commitment



(¢) Entrance : Exit . Birth : _ . (Complete the Analogy)
" (@) Arrival o o '
i) Death
" (i) Childhood
- (iv) Adolescence

Write the synonym/antonym for the following. . ' o B5x1=5)
(a) - apathy — (write the synonym) ' '
~(b) despair — (write the antonym)
() symbol — (write the synonym)
(d) rigid = (write the antonym) .
{e) advance — (write the antonym)

Fill in the blanks with the correct phrasal verbs provided: . (Bx1 = 5)
(a)  Ram __ - his father’s business. : :

(took over, took after, took back).
~(b) The functxon - well.

- {(went 1nto went off, went about}
(¢) The principal __ _____the prlzes

(gave away, gave off, gave up) | ‘
(d) Recently many people were A by Caror_la virus.

(carﬁed off, carried out, carried away)
e _ ' a doctor at once.

(call for, call on, call in)

Fill in the blanks with the correct verb forms. | - . (5x1=5)

" (a) The soup . good (is smelling/smells) .
(b) Rajesh; home work since 8 O’ clock (13 domg/has been doing)

(@ Hari enjoys. (to read/reading) :
(d My friend when I went to his house (is sleeping/was sleepmg)

- (&) Anu _ __her M.A,, in 2010 (has passed/passed)
_ Rewrite as directed - ’ o ,- Bx1=5)
_ (a) The cattle : . ‘in the field. : : '
(Use the present continuous form of ‘graze’)

() At5 O clock 1ast evening I - to my friend.

(Use the past contlnuous form of ‘talk”)
(¢ Asha_ _ ‘ . on a tour tOMOTTOW.

(U se the simple present form of ‘start) o
(d) If she does not take a taxi, she _ ____the train.

. (Use the simple future form of ‘miss’) : .
(e) Ashok will buy the dress that - the cheapest.

(Use the correct form of ‘be’)

2 - . (2*01CSS16)



. 10.

Fill in the blanks with suitéble articles. . ' - Gx1l= 5).

TV should ‘mever be held out as carrot or reward. It not only effects
_ quality of their work but also gives rise to : . feeling that
denial of TV is : punishment. The best way is to provide

child with alternative ways of éntertainment.

Fill in the blar_lks with: suitable prepositions.

: (6x1=5)
(a) Abraham Lincoln came __ a poor family.
(b) Rajani is very fond - : _ sweets.
{¢) What are you looking ___- ?
(@ Ihave not seen him " Monday.
(e) The godown is infested rats.
What are the Barriérs to listening? ‘ ' - ' 5)
Read ’ché following passage and answer the questions that follow. ' BGx1=5)

In American restaurants they call for “Toasted English’, referring to English Muffins which

~ though being made in America now retain ‘English’ as a sort of concession to their origin. The

same may be said of the American’s language too. They too went through a phase of throwing
out the British but retaining their language and letting it flourish on American soil, the ‘
resultant language is somewhat different from '~ its British counterpart :
it may be said to have gone through a process’of toastmg One noticeable result of this
toasting is that much of the formalism surrounding the use of English has been abandoned.

(a) What does the name ‘Toasted English’ in American restaurants refer to?’

~(b) Who also went through a process of throwing out the British?

(© | What does the word, ‘British Counterpart’ refer to in the passage?
(d) What is one noticeable result of ‘toasting’ on American English? -

(). Give the méaning of the word ‘Abandon’.

s © (2*01CSS16)
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B.A/B.Com./B.Sc/B.B.A/B.C.A/B.A (OL) DEGREE (CBCS) EXAMINATION, MARCH 2020.

(b)
(©
(@)

(@

7 (Examihatioﬂ at the ena of Seco_nd Semester)
7 Part I — Language
GENERAL ENGLISH |

(Regulation 2016-17)

Time : Three hours - , - Maximum : 75 marks
1. Ahswér any TWO of the following in z;bout 75 words each : @x5=10)
(a) How does Smence affect the life of an average man? '
(B) Compare and contrast the scientific point of view and God’s eye v1ew‘?
() How does Gardener refer to'a greeting without hand shake?
(d) What according to the author the disadva.ntages of shaking hands?
2. Answer any TWO of the foltowing in about 75 words each: ' _ (2x5=10)
(a) . What is the central idea of the poem “Ode to Autumn”? B
(b) What does Keats mean by ‘m.istsAand mellow fruitfulnoss’?
(c) 'How does the poet feel about her marriage?
(d)  What does the poet try to say to this world in ‘T am Not that Woman
| Answer any TWO of the fo]lowmg in-about 75 words each '(2 x 5= 10)
(a) Who owned the p1pa1nagar bank? What other details of hn:n are given in the story‘?
(b) Whois Sitaram? How did he convey the mformatmn_by Nathu to Mrs. Srivastava?
(¢)  How was Sub'biah trained by his father in the rice business?
(dy How did Subb}.ah meet hlS tragic end in the story ‘Half A Rupee Worth”"
4 Answer any TWO of the followmg in about 75 words each: | | (2 x 5 =10}
(a) What was the first cause of argument between Natalia and Lomov? '
() Sketch the character of Natalia? |
(¢0 Why did Lomov want to marry his- oeighboﬁr? _
(d)  Why did Chubukov call back Lomov even using insulting words?
5. Changé the voice of the following sentences. ' ) ‘ . (3x1=5)
(a) Flowefs were given to Seetha by Ram | -

The po]ioe caught the thieves

They locked the gates.

My mo_ther,_is preparing the food.
She had left her mobile in the desk:



Rewrite as directed. | S _ ' _ E (5x1=5)

(a) “Where are you going‘?” Shyam ,ask_ed Sona
{into indirect speeéh) | |
(b} She said to me, “thank ydu.” '
(into indirect speech)
' (©) -They said, “Goutham must gO tomorfov?”. (into indirect speecﬁj
(d My friénd lsaid to me “give me a cup of coffee.”
' | (into in&ire’ct speech)
() He said to me, “sit down.”
| (into indirect speech)
. Rewrite as directed : ‘ . _ ) : S - (Bx1=5)
(a) Seetha is the tallest girl m the class. {change inﬁo positive degree) '
- (o) River Krish_na 1s not so largé as Ganges (change into Comparatlive'degree)
(¢) Vizag iS'bigger.than many other cities in AP. r(cha'ngef into superlative degree)
(d) Veryr few eountri.es' in the world are as large as China. (chénge into -Compaxative
degree) ' ‘ '
(e) Hercules was stronger than any other man. (changé into Superlative degree)
Re-ad.the following conversation and answer the blanks : . 7 _ Bx1=5)

Shyam : Good morning! I am Shyam

Arun

" : Good inorning!——-————————l

Shyam : This my first interview, I am a bit tense -

Arun  : Oh!Relax please.————2._ :
Shyam : What kind of questions can we expect? ———————3
Arun  : Iam sure they will ask some personal questions

Shyam : Ican ansWer them will they question on our.skills?

Arun

: Shyam if we are confident and — 4

Shyam : You are right. My friends also told the same.

Axun
Shyam : - 5, Wish you all the best.

: Wish you all the best Shyam

-

- Write a dialogize with a minimum Three exchanges on the context given below. Conversaticn

between a student and teacher for the absence of the class. . ~(B)

2 o (2*01ENG16)
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Write a paragraph of 100 words with the hints given below. ‘ (B

A postman in a village — interested in every one — a good friend of all — a girl's marriage
settles — her grand uncle dies — delays in delivering the letter — gives it after marriage —
the girl’s father is thankful to him.

Read the following paragraph and write answers from the multiple choice questions given
below. : : ' o (5x1=5)

Who is an average student? Is it something that is decided by mere marks? Clinical
psychologist Sangeetha Madhu says, An average person need not be defined in terms of
marks — T would define an average student as on who has balance between his or her powers
of logical reasoning and the emotional front. This balance causes them to be caring towards
animals, aware of their requirements, empathetic in general, understanding towards the

‘peer group, having respect for the opposite gender, valuing the environment, being a team

player and so on. “She goes on to say, “In fact, in the non-academic, real world, average
student who has the repertoire of social, emotional and people skills can become potential
leaders and make valuable contributions to the society.” =

(a) What is the meaning of the word repertoire?
@  Mental capability
(i) Reciprocation
(ili) = Potential
"(iv) Response , _ . .
(b) Whatdo you understand the meaning of capitalize from the passage? -
@ Investment -
(i) Work in a capital citj
(i) Exploit '
A (iv) Experience

(¢) What is the most positive trait of an average student?

(i)  Neglecting the opposite gender
(i) Balance between emotions and logic
(iii) Being sympathetic
(i) Love for ecological imbalance )
('d) - What is the closest word in the passage which means interpersonal communication
skills? ,
() Team player
(ii) Potential leaders
(1i) Understanding the peer
(iv) People skills

(e) What could be the apt title of this passége?

i) An av’erage" student

(i) A good leader
(iii) A wonderful humanitarian -
(iv) Intellectual skills |

s . (2*01ENG16)
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- (Examination at the end of Second Semester)
Part T - Language
PROSE (URDU)
(Regulation 2015-16)
- Time : Three hours o . | | - Maximum ;.75 mafks ’

PART A _ (5 x 5= 25 marks) |
.,rfz:éu:,u*uﬂyéa_;ww T
| -U”J/”UU <5>5L£J H
_,&J._J/’L(f/h_,bu(ulaﬂ,w/ _
L _.,yﬂéf/uﬂz. L3 _r
-éjwtK.,Ub/dm,uu,l_,mpaidfugfﬂu)ww _
| ,.éug@yﬁ&f,,u; _r
_éfﬂ,ﬁwuuédm(/ 'y

_éwajtidjﬁ 5/J5)J’ -



éé/cf/’w
up/u’/lf d/ﬂ/uﬁ/fd/‘ﬂ/_"

&.,.:/:’ Iy /. Kz SE 2 bv,jl

PART B (5 x 10 =50 marks) a

_,é/ufil(dlrbﬁc;u*ui/
-u"u/(m)u’;didly’/

UNIT I

| _Zio/ lp(;«b:ufu v ’Ldjﬁu:ﬁ;yl |

.
,ﬂ/@J{JLJJ@uﬂ
B |

_éJL#JKaug%.lJJ’"/LGJ@;LJUM

g

-ﬁ*fu*.bwiu,aw‘;ﬁj y”,ul oy

NI

2 o (2*01URD 15)



“UNIT II1 | N
-5J.?’¢-«U.L,’>£..,,TJWLJJ€;»U5 _1“r’
-é”fwﬁw’z;;.uu%‘ugd/jf’;ujK[}mé/ N
-2.@1}5&,&@;(}6&!5/ s
e 66T S o
T - f
- G AW L e Ly e

BB PRER L S K gL 28 A

3 ' (2*01URD15)






(2*018AN15) -' ﬂ -

B A/B. Sc /B. Com /B.B. M /B.C.A. DEGREE (CBCS) EXAMINATION OCTOBER 2020
' (Examlnatlon at the- end of Second Semester) o

Part I - Language
SANSKRIT

(Regulatlon 2015- 2016)
~ Time : Three hours ' ' : B o Maﬁmum T 75 marks
‘Note: 1. Q Nos. 7 and 8 in Part A are compulsory o
2. Q. Nos 2,3,17, 8 15 16, 17, 18 are to be answered only in Sanskrzt
" PART-A
I qﬂ’mzem%:q | : e . " f T (5x5=25)
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. B.A/B. Com./B. Sc /B.B.A./B. C A/B.A. (OL) DEGREE (CBCS) EXAMINATION,-
' : OCTOBER 2020.

(Examlnatlon at the end of Second Semester)

- PartI— Language

GENERAL ENGLISH

(Regulation 2016-2017)
Time : Three hours ' | L ' Maximum : 75 marks
1. Answer any.TWO of the followingrin about 75 words each: : 7 (2x5=10) "

(a) How Science direct the beople in many ways"
. (b) “Scientific point of v1ew is morally equwalent of war”. Do. you agree‘? Gwe reasons -
(¢ What are the modes of greetings of Japanese Indians, Chinese and the Arabs‘?
(d) Accordmg to the author how should the handshake be‘?
2. Answer any TWO of the followrng in about 75 words each: | | (2‘.'x\5 =10)
(a) What does Keats rnean‘by ‘rni_ste and mellow fruitfulness’? | |
(B) Give the instance\in which the poets shows his love towards 'autun:m season?l
(c) How does the poet feel about her marriage in the poem “I ami Not That Women ?
(d) What does the poet tell about herself in the ﬁrst stanza?
3. Answer any TWO of the followmg in about 75 words each . - (2 x5=10) -
{a) How did old Ganapath astomsh every one? | |
| (b) What did the sweeper boy complaln about"
(¢) Whatis the importance glven to money by Subbaiah? Is he rlght or wrong in domg $07?
(d) What do you think is the moraI of this anecdote and Narayan's story?
4. Answer any. TWO of the followmg in about 75 words each o ' (2->< 5= 1'0)".
(a) What is the main trait of Lomov that is brought out in his monologue‘? |
(b) What was the cause of the second argument?
(c) Wny did Iomov want t'o marry his neighbou‘r?_‘

(d) Why did Chubukov call Back Lomov even using insulting words? -



5. Change the voice of the following sentences. : | - - (Bx1= 5)
(e) The principal p_resicied over the meeting.. ' -
(b) He wrote a lettei‘. |
(¢) She drinks mﬂ_k
" (d) Pratima was singing a song.
(e) He had sent the parcel. -
6. Rewrlte as dJrecteé ' | | : '. T (5x1=5)
' (a) He said, “I shall go to Chennal” {into 1nd1rect speech) ' '
(b) She said, “I have passed the examination.” (into indirect speech)
(¢) I'said to him, “What are you doing there?” ( into indirect speech)
(d) My friend said to me “give me a cup of coffee.” (inﬁo indirect speech)
(e) He said to me, “sit down." (intd ipdirect‘speech) '
| 7. Rewrite as directed' | . : ' ' _ | : (bxl= 5)7 .
(a) Gold is more precmus than silver. (change into positive degree}
(b) The rose is the most beaut1ful fiower. (change into Comparative degree)
(c) Tenah is not bigger than Vizag. (change into positive degree)

(d) Very few countries in the world are as large as- Calcutta. (change into Comparatlve
degree) | :

_ (e) Solomon wiser thanL any othef kiﬁgs in the world.. (change into Superlative degree)
8. Read the followmg conversatmn and answer the blanks | B _ ' (5x1=05)

Sirisha: Good morning! I am Sn:zsha .

(0

Anitha: Good morning! '

Sirisha: This my first interview. I am a bit tense.

2
Anitha: Oh! Relax please. 2)

3)

Sirisha: What kind of questions can we expect?
Anitha: I am sure they will ask some personal questions.

Sirisha: I can answer them will they question on our ski]is?_ .

(4

Amtha Smsha if we are confident and
Sirisha: You are right. My frlends also told the same.

Anitha.: W}.Sh you all the best Sirisha.

Sirisha: ) , Wish you all the best.

2 N ' (2*01ENG16)
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11..

Write a dialogue with a minimum Three exchanges on the context givén below. - (B)
Conversation between two neighbours about reducing T.V volume.

Write a paragraph of 100 W‘ords with the hints given below. - : ' - (3)

Read the foﬂowing paragraph and write answers from the multiple ¢hoice guestions given
below. _ : : g . , Bbx1=5) .

There was a Guru who had mastered the Scriptures. One day when he was teaching the

Vedas to his disciples, a cat started moving around. This did not disturb the Guru, but was a

distraction to some of his disciples. So the Guru instructed his disciples to get hold of the cat

and tie it to pillar. As the nuisance recurred on the following days, the cat was regularly
tethered to the pillar before the Gury began his teaching.

Some years later the Guru died. One of his disciples became the Inew head. The practice of
ethering the cat to the pillar continued. After a few months the cat died. When the Guru

‘began his teaching the next day he noticed that cat was aissing. He said, “Don’t you know

that a cat must be tied to the pillar during my teaching? That 18 our tradition. Go and find a
cat”. The disciples immediately obeyed the order. Blindly following traditions, thus, is
foolish and serves no purpose. :

Questions:

. (@) Why were the disciples distracted?

(i)  The dog wés moving aroﬁnd
(i1) | ‘Thé rat was moving around
(i) rI‘-hc-:- cat was movir:lg around
(iv;) - The cbw v?‘as moving around
(b)  What was done to prevent the cat from 'roaming about?
(1) The cow W.as tied to a pillar
(i) The ca.t wés tied to a pi}laf
_ (1d1) ‘The rabbit was- tied to a pillar

(iv) The dog was tied to a pillar.
o3  (2*01ENGI6)



(¢) Who became the new head? =
(i) - One of the disciples became ‘the new.head

(i1) Th‘e strange person became the new head
(i) Two of them _became the new heads
(iv) Young man became the new head.

(d) What practice continued after the new Guru took charge?

- (@ The practice of tying a cOW to the pillar
(i) The practice of tying a dog to pillar
(i) The practice of tying a cat to p]]lar

Gv) The practlce of tying a cat to pﬂlar stoped

(e) The new Guru was fool_lsh because : — (choose the best answer) ',
(i) He disliked traditions - : : :

(i) He liked traditions
(i) Hewas fond of cats.

(iv) He was blindly following a practice.

4 - ~ (2*01ENG16)



Time : Two hours _. :
1.

(@) Many children in India suffer from

(2*01 CSS 16)

B.A./B.Com:/B. Sc /B.B.A/B.C.ADEGREE (CBCS) EXAMINATION OCTOBER 2020.

(Examination at the end of Second Semester)
Part III — Foundatmn Course
' GCOMMUNICATION AND SOFT SKlLLS (CSS)—I
. (Regulation 2016-2017)' -

Fill in the blanks usmg the appropriate preﬁx/ suffix.

(Use preﬁx+nutrition)
(b) The Queen of Jhansi is known for her —
_ (Use brave+suffix) '
(¢) Our neighbours are very — people.
(Usé help+suffix) ,
(d) We must ﬁrotect ourselves from - ~ radiation.
 (Use Prefix+violet) '
(e) Most of the colleges face the problem of funds.
(Use Prefix+sufficient) .
Rewrite as djrecterl:
(a) Alist of books is — (catalogue/Postscript)

(Choose the correct one word substitute)

(b) A method that cannot be imitated {( Inmitable/inevitable)-

A(Chloose the correct one word substitute)

(¢) A Government by the rich is (Plutocracy/Bureaucracy)

(Choose the correct one word substitute)

- (d) Clock : Time:: Temperature (Complete the analogy)

@ : Thermometer
(ii) Barometer

(iii)  Pyrometer

@) Caloriemeter

- (&) Abuse : praise::honour: — — (Complete the analogy)

® irrespect
(ii) ‘ disrespect
" (iii)  mishonour

(iv):  dishonour

‘Maximum : 50 marks

Bx1=58)"

(5 % 1'—'5) :



Write the synonyms/antonyms for the following:

(a) Miserly ' ~ (Write the synonym)

(b) Accept ' (Write the antonym) .

(é) ,Sanction 7 : (Write the synonym)

(d) Knowledge - (Write the antdnym) :
(e) Adversity , . '-(VVfite the antonyin) _

Fill in the blanks With the correct phrasal verbs provided.

(a) Iagreed to . his orders.
(carry away, carry ouf, carry on, carry off)

(b) The donationé to a large sum.

{come by, come out, come round, come to)

7 (c) We must — ——— our expenditure.
(cut down cut in, cut out, cut off)

(d) The burglars — m’to the house. .

(Broken out, broke up, broke into, broke down)
(e) : the light, before you go to bed.

(put out, put in, put up with, put off)
Fill in the blanks with the correct verb forms. -

(a) The W'atch - (cost/costs) lum Rs. 3000.

(5x125)

5 x 1=5)

Gx1¥&

(b) Don’t disturb me. I— — (am reading/was reading) .

(c) We — (saw/have seen) the cinema last night.

(d) Anshu lost her purse when she _ (is gomg/was going} to ofﬁce

{e) By the time the pohce came the tluef

left)
ReWrite as directed.

~ (a) His aim — _ to become an Engineer.

(Use the present form of ‘be’)
(b) The train ' ' the platform an hour ago.

(U se the simple past form of leave)

(c) Look! The old man — across the road.

(Use the present continuous form of ‘walk’)

(d) My brother — ‘tomorrow.

(Use the simple future form of arrive) - .
(ej Wait till L‘ee_la : her lunch.
(Use the present perfect form of finish) '

2

(have already left/had .already

(Bx1=5)
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9.

 Fill in the blanks with suitable artides.

(5x1=5)"

By sheer force of hislabour he come through as
people’s champion. There is ‘ basic simplicity to
which ‘ adoring public must particularly like.

Fill in the blanks with suitable prepositions:

(a) Rakesh has been Worki_ng in the office —— 2015.

(b) We will stay here ' - — it stopé raining. '

(c) Anﬂ is happy — — his achievement.

(d) Madhu has been cured : her illness. ' .‘
(o) I contacted him . phone.

Wrife_FIVE sentences about the types of listening.

10. Read the following passage and answer the questions that follow: -

pleasant

man

(53x1=5)

)

(Bx1l= 5)

In the world today we make health an end in itself. We have forgotten that health is really a

means to enable a person to do his work and do it well. A Jot of modern medicine includes
many patients as well as many physicians-pays very little attention to health but very much

‘attention to those who imagine that they are ill. Our great concern with health is shown by

the medical columns in newspapers, the health articles in popular magazines and the
popularity of the television programmes and all those books on medicine. A healthy person
should not be wasting any time talking about health: he should be using health for work.

(a) How does the writer define health?

(b) What does modern medicine focus on?

i(c) ‘Why do Wé see health columns in newspapers these days?
(d) What should a healthy man do? -

(e) What do you do to stay héalthy?

2%01 CSS 16)






